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The Code No. and.Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o UG TIT F TV [IGT & BT T Y HIT Fl BHE T [7E]
Before beginning to answer a question, its Serial Number must be written.
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Don't leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.
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(vii) mﬁa?a‘amww:/?#aﬁ?/ﬁ%%ww?/ o 7ot 7 & ovE BT

g% & 797 T 8
(viii) T=FH G, TEHE T G ad Je7 G A T &l

General Instructions :
(i) All questions are compulsory.
(i) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark:

(iv) Question No.-2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No.'9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

(vi) Question No. 17 to 19 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed
130 words each.

3611/(Set : A) P.T.O.

Previous Pathshala




(4) 3611/(Set : A)
(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 |

[ Objective Type Questions ]

=i ge7 % Gel fawed giad -
Choose the correct alternatives of the following questions :
1. () oTELIHam &l g : 1
(o7) et (=) i

(@) o (3) 3 | HE T
Human wants are :

(A) Unlimited (B) Limited

(C) Negligible (D) None of these

(i) Frfafed & @ PH-a1 afte-ariare & oTeqe  § °

(31) & AR
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(@) i ot

(9) =R =%

(3) ST W

Which of the following is the study of micro- economics ?
(A) Aggregate demand

(B) National Income

(C) Trade Cycle

(D) Consumer Equilibrium
(iif) -1 GRT I FH B BRT © 7 1
() Hee & A AR
(3) o= Jxgetl A T H HHI ST ST
(@) SaEd # H g
(3) ¥ & 5 T
Which of the factors lead to decrease in supply ?
(A) Fall in input price
(B) Fall in price of other goods
(C) Increase in excise tax rate

(D) None of these
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(iv) IR fFel ®¥ @ A6 9% SR 6T 9% 9 A9 @ R, a9 1

(37) wf v STREmEr B

(3) i wwieEd R

(@) wd famr @ & B oF Pa e FT awd R
() T o, offed o & aXTeK ©

If the demand curve of a firm is compatible with market demand

curve, then :

(A) Firm is price taker

(B) Firm is a monopoly firm

(C) Firm can fix any price without restriction

(D) MRis equal to AR

(v) faea #Aemel #ay ¢ : 1
(s1) 1927 (3) 1929
(@) 1931 () 1933

The year of World's Great Depression is :

(A) 1927 (B) 1929
(C) 1931 (D) 1933
(vi) =1 & 9 5 TS ot ® e 787 fRm o ?
(s7) =g Fam
(3) et gl
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(7) =wiaer o™
(@) wwdem ww
Which of the following is not included in national income ?
(A) Domestic services
(B) Intermediate services

(C) Transfer income

(D) All of the above
(vii) qof TSFIR Hger a6 Rafq & BEd AD = AS &R S = [ @21 3699 787 0

Full employment refers to the situation wherein AD = ASand S =1
and there not exists:

(A) Involuntary unemployment

(B) Low wage rate

(C) Low level of output

(D) Low income
(viii) 7T & | BI9-91 T B BT ISR e 7 A

(1) FFm ax (@) wwafr @
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(@) @ #= (3) om =+

Which of the following is not an example of direct tax ?
(A) Corporate Tax (B) Wealth Tax

(C) Service Tax (D) Income Tax

[T &7 @8 & a1 T, FAT -
State whether the following statements are true or false :
(ix) TFOS 9 H HEd F gha 70 IS B OFROT A B 1

Rise in the price of substitute goods is the cause of increase in

demand.

(x) THF omafd Rt @ &l &, HI 3a &1 FH e el |
1

The longer the period, the less elastic is demand.

(xi) it SIEA & e R U fafdme #=n gfd weawd 2 1
A specific quantity within the supply schedule refers to supply.

(xii) TOTET RN AR & S{R [9shd AN 918 ST o

]
Selling costs occur under perfectly competitive market.

(xiii) TAE-TAMEH H TXH ST o & aran

More government interference does not exist under macro-
economics.
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(xiv) T T H gOq aor A § ater @ g1 1

Disposable income is divided between savings and investment.
(xv) TR Rear # M TRBR SoTc B 35 ol 1

The objective of budget is to achieve the state of economic

stability.

(xvi) ‘FT TH FBLA FRE Sl ol 1

'Tax' is a legal payment.

[ S-S 999
[ Very Short Answer Type Questions ]

2. ‘IO AN A I ARYT T 7 )

What is meant by 'opportunity cost' ?

3. Fr=1 ifc &t awgell & @ APeE © ¢ 2

What is meant by inferior goods ?

4. AR TEd 9§ g1 ARHE B2 2

What is meant by internal economies ?

5. I&] & THEU d AT AT GEEA © 2

What do you mean by homogeneous product ?

6. STTAIEHIK i GRS JifeTg) 2

Define Oligopoly.
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10.

11.

12.

13.
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gifem a&e @@ e ? 2
What are final goods ?

e fafmg s & aftamn s 2

Define flexible rate of exchange.

[ TELAUED 5927 ]

[ Short Answer Type Questions ]

HRE B UTHA T JHE H UThA § AT T Fiforu

Distinguish between returns to a factor and returns-to a scale.

Fotl o/ o T o AT S © 7 4

What is the difference between private income and national income ?

TS 3 AT & §77 99 Sasdl 4
Explain four uses of national income accounting.
T O § 97 R ® ? 399 °eh hN-9 § 7

2+2=4

What is aggregate demand ? What are its constituents ?

Tof @ A 6 SR A A | B B 7 4

How full bodied money is different from credit money ?
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14. @ (NG9 & O Ul B AU B 4

State the qualitative instruments of credit control.

15. 31 A0 % qHIEH % [T TSN fd & aue B 4

Explain fiscal policy for correcting the situation of excess demand.

16. feR ffe & @ &l & ? 36% v § @ d& dh
2+2=4
What is fixed exchange rate ? Give two arguments in favour of fixed

exchange rate.

[ Y SO 9]

[ Long Answer Type Questions ]

17. A1 % HFd Q) [59 Fed © ¢ 39 H B ga @ [y @i ame &Y 2
+4=6

What is price elasticity of demand ? Explain the total expenditure

method to measure it.

YT
OR

HRT @6 HT S ¢ AN 9% H G A B AR R FH M S ! 2+4=6

What is demand curve ? Why does a demand curve slope downwards ?

18. @Rl & Terdl | Ufd & faer o gfd & gfe § o= s 6
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Distinguish between extension of supply and increase in supply with

the help of diagrams.
YT
OR

ol sferEifier # steqeh § G Y g/ o & de @ eren H
6

Discuss the short-run equilibrium of the firm under perfect competition

by way of marginal approach.

19. THIAHR SR & J&d AQurell & ao 6
Discuss important characteristics of monopoly market.
SEEN
OR

TR STCRNTIT SToY &l g [Siaredt &1 avis &

Discuss important characteristics of monopolistic competition market.
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